Fepazz 3
%WMW
L=t 72455 4 ;=208 by f03
22227 by =7p%
205-7292% q00p = 2622297000

27 774922 . 10000 - 337 Y7 50000
- s+,

Tp = s 29905 50c 00
Uk Con =235 90 ¢ 00

Sage1e 2

Xy =
Xz =

2,53

-— ° 7 S gy m . /09 w%% f?d/
. —— ‘70@,.\/ ] ()
2234590500 2 ;3/’5’ 70500

¢ 2 20%. 27 $sv .70

Wzé%

V=559 s0r  §34-708<243-70°=>

Kitng-
= - 70? 2,53 707 _ 7 < WY )3
= ;Ff'{:;j_—“ﬁ%ﬁi = 25345 10500 =7 9%(%)/W ? )

2 ==
¥ syo5 00
2,67- 707 €253 -/&’:DW 733§
=0 D W peepaman) > DU ( ypurzzan) =2 I (Hpcatart) =

= U T Fipormzeit)
Dnboni: Waappware rotiittcee IQ7ermades




I
wnigp b 59 ~+1-54

p MHuoronpopuibHas
' -
7 HH)KeHepHasl 0JIMMITHA/A
3 “. «3Be3na»
Sepane 7
Grbern: /5
:/: f
. 3
Onbom: BE R &\ BT
Wf
Jits by dpmemsgeis Yelp7e W‘W . ‘
Mﬁ { i ; : ,
114 - | ! | :
1-10} ’ ' '
e 7
WW ’. /\( X N
NN S N A LA I ?’%ﬁ(%‘&}
R R R 12 15" L (&
B

Lty s

V= 17-70" M= 3

‘/Egmam'.

A/: :2'/«"9? /L{: =
Wit



